QUES 01

Two identical current. , carry curent | . Asimpl i
loop pas ugt them once. C 3

a §,B-dl = 20l

b. the value of §, B - dlis independent of sense of C.

. there may be a point on G where B and dl are perpendiculars
4.8 vanishes everywhere on C.

Sol. (5,)

Key 3 s law gives another method
current distribution.

g Baround any qual (0 419 times the net
current i threading through the area enclosed by the curve, .,

I
$B-dl = o Bi = uo (ia + i — ia)

Total current crossing the above area is (iy + Is + I;). Any current outside the area is not included in
the net current. (Outward © — -+ve, Inward @ — — ve )

Applying the Ampere's circuital law, we have

$Bdl =g (1-1) = 0 (because the currentis n the opposite sense.)

Also, there may be a point on C where B and dl are perpendicular and hence,

$.B.di=0

The value of B does not vanish on various points of C. Thus option (d) is wrong



